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(a) Compute the system noise temperature Ts evaluated at the
antenna input of the waveguide:

Ta = 160 K To t= 290 K Te2 := BOD K
0.2 12 [
Ll := 10 G = 10 B := 10 Hz
Te := To (L1 - 1) + Te2 L1 Te = Ta + Te Ts = 1597.534 K
(k) NHoise figure F :
F 1= :—E + 1 F = 5,957 FdB := 10- log(F) FdB = 7.75
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{c) The available output noise power Pno:
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Pno := 1.38-10 "Ts-B G Pno = 0,022 Watt
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B-25
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B-27

B-34
-3
— 1
5 =
2 rﬁ 2
mx = [—-1] Cx = |=2 T := |1 .
4 2
s
(a.) Compute the mean vector for y:
my := T mx 1.5
my =L ©
(b.) Compute the covariance matrix, Cy:
cy = T-CxX'T7 5.106 3.382
Cy = |3.382 4.356
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B-34 (Continued)

(c.) Compute the correlation coefficient for yl1 and y2:

g = p o= 0.717
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